Stochiometry homework part 3:

Show all work.  All parts of all questions must be answered to earn a stamp.  If you get stuck, use your book to help you figure things out. 

1. If we have 4.2 L of O2 gas at STP, how many grams of gas do we have?

2. 358 g of AlBr3 decomposes into its elements at STP. How much bromine gas is formed in liters?  (hints: first figure out a balanced equation, remember that bromine is a diatomic molecule)

3. We mix together 5.0 g of aluminum and 10.0 g of iron oxide, Fe2O3.  How much (g) aluminum oxide can we make?  (hints: figure out what the balanced equation will be, then solve to see how much  aluminum oxide is made from 5.0 g of Al, and also from 10.0 g of Fe2O3.)

